Tableaux des Puissances de Dix (I)

Divisez le nombre de la rangée par celui de la colonne.

0,1

0,0001

0,01

0,001

39

75

57

58

0,001

0,1

0,0001

0,01

19

51

27

87

0,01

0,001

0,0001

0,1

91

18

58

92

0,1

0,0001

0,001

0,01

26

67

63

35

MathsLibres.com




Tableaux des Puissances de Dix (I) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 0,1 0,0001 0,01 0,001
39 390 390 000 3900 39 000
75 750 750 000 7 500 75000
7 70 70 000 700 7000
57 570 570 000 5700 57 000
58 580 580 000 5800 58 000
+ 0,001 0,1 0,0001 0,01
6 6 000 60 60 000 600
19 19000 190 190 000 1900
51 51000 510 510000 5100
27 27 000 270 270 000 2700
87 87 000 870 870 000 8700
+ 0,01 0,001 0,0001 0,1
2 200 2000 20000 20
91 9100 91 000 910 000 910
18 1800 18 000 180 000 180
58 5800 58 000 580 000 580
92 9200 92 000 920000 920
+ 0,1 0,0001 0,001 0,01
26 260 260 000 26 000 2 600
67 670 670 000 67 000 6700
68 680 680 000 68 000 6 800
35 350 350000 35000 3500
9 90 90 000 9000 900
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